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BACHELOR’S DEGREE PROGRAMME
(BDP)
Term-End Examination ‘

June, 2023
ELECTIVE COURSE : ECONOMICS
EEC-11: FUNDAMENTALS OF ECONOMICS ‘

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from all Sections as per

instructions given in the-each Section. ‘

Section—A

Note : Answer any two questions from this

Section. 2x20=40

1. What is consumer’s equilibrium ? Explain with
illustration the consumer’s equilibrium in

terms of cardinal utility approach.
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2. (1) Distinguish between price elasticity of
demand and cross elasticity of demand.
Explain the various types of price elasticity

of demand.
(i) Given the demand function :
Q=50-0.8P;

Find out the price elasticity when price
falls from ¥ 9 to 8 using (i) arc method
(i1) point method.

3. What do you mean by production function ?
Explain with diagramme the three stages of
production function. What are the specific

forms of production function ?

4. In what respect does monopolistic competition
differ from perfect competition ? Explain with
diagram the effect of selling cost of price output

under monopolistic competition.

Section—B

Note : Answer any three questions from this
Section. 10%3=30

5. What is labour market ? Explain the various

types of imperfection in the labour market.
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6. Explain the various methods used to estimate

national income in India.

7. What is consumption function ? Given :
Y=C+I+G

Where
C=25+0.75Y

I=TI0=50
G=Go=25
Find the equilibrium level of income.
8. Explain the Keynesian version of demand for

money.

9. What is the difference balance of payment and
balance of trade ? In what sense balance of
payment remains always in balance.

Section—C
Note : Attempt all the questions from this
Section. 2x15=30

10. Distinguish between any three of the

following :

(i) General Equilibrium and Partial
Equilibrium.
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(i1) Positive economics and  normative
economics.

(ii1) Fixed cost and variable cost.
(iv) Average cost and marginal cost.
(v) Money flows and real flows.
Explain any three of the following :
(i) Multiplier

(i) Transfer incomes

(ii1) Expansion path

@iv) Implicit cost

(v) Merit good
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